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QUESTION 1

Which two steps should be included in your security design process? (Choose two.)
A. ldentify external attackers

B. Define safety requirements for the customer\\'s organization

C. Identify the firewall enforcement points

D. Define overall security policies

Correct Answer: CD

Reference: https://www.juniper.net/assets/us/en/local/pdf/whitepapers/2000591-en.pdf

QUESTION 2

You want to deploy JATP in your network that uses SRX Series devices.

In this scenario, which feature must you enable on the SRX Series devices?
A. SSL forward proxy

B. AppSecure

C. UTM antivirus

D. IPS

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/release-independent/jatp/topics/concept/jatpsrx-integration-
getting-started.html

QUESTION 3

Which two protocols are supported natively by the Junos automation stack? (Choose two.)
A. NETCONF

B. PyEZ

C. Jenkins

D.CIP

Correct Answer: AB
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QUESTION 4

You are deploying Security Director with the logging and reporting functionality for VMs that use SSDs. You expect to
have approximately 20,000 events per second of logging in your network.

In this scenario, what is the minimum number of logging and reporting devices that should be used?
A2

B. 4

C.1

D.3

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos-spacel7.1/topics/task/multi-task/junosspace-sd-log-
collector-installing.html

QUESTION 5

Which solution provides a certificate based on user identity for network access?
A. network access control

B. user firewall

C. IP filtering

D. MAC filtering

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-authcontrol-network-
access.html
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